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Match-up:  ( 1 point each ) 
For each numbered term, enter the letter corresponding to the definition that best matches the term.

____ 1- river


A- Erosion of a valley by a river system.
____ 2- stream


B- The area of a river valley next to the channel, which is built of deposited 





sediments and is covered with water when the river overflows its banks at 





flood stage.
____ 3- creek


C- The volume of water passing a point along a stream in a unit of time.
____ 4- brook


D- The textbook says this term is for a small or large flow of water in natural 





channels but most river scholars and water sport enthusiasts use this term to 




describe a medium flow of water in a natural channel.
____ 5- gradient

E- A relatively large flow of water in a natural channel.
____ 6- headwaters

F- A term used for a small stream.
____ 7- downcutting

G- The book says this term is another term for a small stream but most river 





scholars and water sport enthusiasts use this term to
describe a water flow 





that is smaller than a creek.
____ 8– floodplain

H- The slope of a stream or river expressed as a loss in elevation of the stream or 





river with distance downstream.
____ 9- stream discharge
I- The areas of a river system that are farthest away from its mouth.
Fill-in-the-blanks: ( 1 point each )
10) Put terms # 1, 2, 3, & 4 above in order of smallest to largest water flow.

_________________
        ____________________
___________________
___________________

Short Answer:  ( 5 points each )
11) Why can high-gradient rivers move large sediments ?   

_____________________________________________________________________________________

12) How does stream discharge change from high-gradient to low-gradient stream profiles ?


_____________________________________________________________________________________
13) Why do high-gradient streams cause faster downcutting of their valleys than low-gradient streams ? 

_____________________________________________________________________________________
14) What causes river discharge to change naturally throughout the year ? 

_____________________________________________________________________________________

15) What causes river discharge to change naturally throughout a millennium ? 

___________________________________________________________________________________

16) Name something un-natural ( man-made ) that can affect a river’s discharge: ________________________

True or False:  ( 1 point each )
17) T  /  F  --  The velocities of flow in high-gradient rivers are low.
18) T  /  F  --  High-gradient rivers can move very large boulders along the river bed.
19) T  /  F  --  The slope of the land at the mouth of a river is typically very steep.
20) T  /  F  --  Floodplains have high-gradient rivers running through them.

21) T  /  F  --  Low-gradient rivers down-cut their valleys too rapidly for floodplains to develop.

22) T  /  F  --  A typical feature of a high-gradient river is the meander.

23) T  /  F  --  A typical feature of a floodplain is the oxbow lake.
24) T  /  F  --  Stream velocity and stream discharge are basically the same thing.

25) T  /  F  --   “cumec” is a non-technical term for a discharge rate measured in cubic meters per second.

Diagram:  ( 2 points each )

Use the diagram below to answer the following questions.    ( Don’t forget to include units of measurement )
[image: image1.png]LITTLE COTTONWOOD RIVER PROFILE
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RIVER MILES - Distance Upstream From Mouth

Total elevation drop from headwaters to the Minnesota River = 680 feet
Total Litle Cottonwood River stream length = 82 miles
Average gradient = 8.3 feet per mile.




26) What is the elevation of the Headwaters ? 

________________
27) What is the elevation of Site # 1 ?             

________________

28) What is the elevation of Site # 2 ?             

________________

29) What is the elevation of Site # 3 ?           


________________

30) What is the elevation of Site # 4 ( Confluence )

________________

***   continued on next page   ***
Diagram continued:  ( 1 point each )

Use the preceding diagram above to answer the following questions. 
31) About how many miles is the Confluence from the Headwaters ?
________________

32) About how many miles is Site # 1 from the Confluence ?

________________

33) About how many miles is Site # 1 from the Headwaters ?

________________

34) About how many miles is Site # 2 from the Confluence ?

________________

35) About how many miles is Site # 2 from the Headwaters ?

________________

36) About how many miles is Site # 3 from the Confluence ?

________________

37) About how many miles is Site # 3 from the Headwaters ?

________________

38) About how many miles is Site # 1 from Site # 2 ?


________________

39) About how many miles is Site # 1 from Site # 3 ?


________________

40) About how many miles is Site # 2 from Site # 3 ?


________________

Diagram continued:  ( 2 points each )

Use the preceding diagram above to answer the following questions.  ( Don’t forget to include units of measurement )

If the average gradient of a river section is equal to the river section’s change in elevation divided by the river section’s length, what is the average gradient for the following ?

41) The whole river from headwaters to confluence ? 

________________
42) The section of river between the Headwaters and Site # 1 ?
________________

43) The section of river between Site # 1 and Site # 2 ?

________________

44) The section of river between Site # 2 and Site # 3 ?

________________

45) The section of river between Site # 3 and Site # 4 ?

________________

Diagram continued:  ( 1 point each )

Use the preceding diagram above to answer the following questions. 
46) The general gradient at Site # 1 would be   ( circle one ):
HIGH

MEDIUM

LOW

47) The general gradient at Site # 2 would be   ( circle one ):
HIGH

MEDIUM

LOW


48) The general gradient at Site # 3 would be   ( circle one ):
HIGH

MEDIUM

LOW


49) The general gradient at Site # 4 would be   ( circle one ):
HIGH

MEDIUM

LOW
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